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Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

NT3025



191621303 NT3025

Explain the working principle of colpitts oscillator

oscillator

amplifier and explain.

(i) Direct coupling

(ii) Large signal amplifier

OR

OR

10.

6

6

11.
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        The function of RC coupling network is......

(a) To block dc signal

(b) To pass dc signal

(c) To amplify the dc signal

(d) None of these

Which of the following coupling provides 

impedance matching.

(a) RC coupling

(b) Transformer coupling

(c) Direct coupling

(d) None of these
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Derive the following relationship for a single-loop

feedback system .                 where symbols have 

their usual meanings.

I =5mA, V =6V then find h-parameters?2 2

I =1mA, V =3V, I =5mA, V =6V h- 1 1 2 2

   A

1-bA
= Af

9.

6

OR
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(iii)

(iii)

(iv)

(ii)

............is used to amplify low-frequency 
signal .
(a) RC coupling
(b) Transformer coupling
(c)  Direct coupling
(d) None of these

The decibel gain of a cascaded amplifier is
equal to:
(a)  Product of individual gains
(b)  Sum of individual gains
(c)  Difference of individual gains
(d)  None of these

NT3025

   A

1-bA
= Af

TWO - PORT
NETWORK

I1 I2

V1 V2

TWO - PORT
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(v)

(v)

(vi)

(iv)

In negative feedback, feedback signal and 
input signal are...............

0
(a) 180 out of phase

0
(b) 360 out of phase

0
(c) 90 out of phase

0
(d) 60 out of phase

Output and input resistance of system 
increase by using.............
(a) Current series feedback
(b) Voltage-series feedback
(c) Voltage-shunt feedback
(d) Current-shunt feedback

NT3025171621303
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OR

Draw ac equipment circuit diagram for 1st stage 

and 2nd stage of RC coupled two-stage amplifier 

and find expression for its overall voltage gain.

RC 

power amplifier.

A 

8.
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Tank circuit of colpitts oscillator consists of
..............
(a) Two ganged capacitors and two fixed coils
(b) Two ganged capacitors and one fixed coils
(c) Only one fixed coil
(d) Only two ganged capacitors.

Which of the following oscillator does not
require inductor in its circuit.
(a) Hartley's oscillator
(b) Colpitt's oscillator
(c) Crystal oscillator
(d) None of these

(vii)

(vii)

(viii)

(vi)

NT3025

A CE transistor shown in figure has following 
-4h-parameters :- h =1kW, h =50, h =5x10 , ie fe re

-5h =2x10 S values of R , R  and R  are 4kW, oe s B C

200W and 6kW respectively . Determine- 

(i) rO

(ii) AI

OR
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Which of the following h-parameter can be
found by short circuiting the output 
terminals of two-port network.
(a) h11
(b) h12
(c) h22
(d) All of the above

               
  
                   h=.............? 21
(a) 1 
(b) -1
(c) -1/2
(d) 1/2

(ix)

(ix)

(x)

(viii)

5W

1W

 For the circuit shown in figure,
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Answer all Five Questions. 
6 x 5 = 30

6

Draw equivalent electrical circuit diagram of crystal

oscillator and explain its working principle.

7.

NT3025
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On which of the following factor h-parameters
depend:
(a) Operating point
(b) Temperature
(c) Frequency
(d) All of the above

Which of the following h-parameter 
represents input resistance.
(a) h11

(b) h  12

(c) h  21

(d) h22

(xi)

(xi)

(xii)

(x)

NT3025141621303

Explain positive and negative feedback.

using h-parameters.

h- CE 

two stage amplifier.

OR

5.
4

4

OR

OR

6.
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Conduction angle of class -AB amplifier is
0

(a) More than 180
0

(b) Less than 360
0

(c) Less than 180

(d) Both (a) and (b)

Efficiency of RC couple class-A amplifier is

.............

(a) 25%

(b) 50%

(c) 100%

(d) None of these

(xiii)

(xiii)

(xiv)

(xii)
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4

4

4.

                                   OR

OR

Write the advantage of RC coupling.

RC 

Explain the following terms-

(i) Harmonic distortion

(ii) Amplitude distortion

B

3.

NT3025
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...........is due to unequal amplification of 
different frequencies present at the input
signal.
(a) Phase distortion
(b) Frequency distortion
(c) Harmonic discretion
(d) None of these 

Which of the following coupling has 
minimum non-linear distortion at high 
frequency.
(a) RC coupling
(b) Tranformer coupling
(c) Direct coupling
(d) None of these

(xv)

(xv)

(xvi)

(xiv)

NT3025121621303

Answer all Five Questions. 

2.

4 x 5 = 20

What do you mean by ideal amplifier? Write its

different types.
4                     

(xx)

NT3025
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In which of the following amplifier input and
output resistance both are very high.
(a) Ideal transconductance amplifier 
(b) Ideal current amplifier
(c) Ideal voltage amplifier
(d) None of these

Which of the following decreases by using
current series feedback.
(a) Harmonic distortion
(b) Noise 
(c) Band width
(d) Both (a) and (b)

(xviii)

(xix)

(xx)

(xix)
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..............is most often used for generation of
high purity sine waves.
(a) Hartely's oscillator 
(b) Wien bridge oscillator 
(c) RC phase shift oscillator 
(d) Colpitt's oscillator

Which of the following h-parameter is 
dimension less.
(a) h12

(b) h21

(c) h22

(d) Both (a) and (b)

(xvii)

(xvii)

(xviii)

(xvi)
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